4.1 Solve Algebraic

Math 20-2
Solve quadratic equations algebraically:
e Factoring: quadratic equal zero, then factor and solve.
¢ Quadratic Formula: quadratic equal zero, then use the formula
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Show how to simplify the following radicals:
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Examples: Solve by factoring.
1. 2x*+11x+12=0

T rodwet 2
AN AWA

AXT + B+ 3x+ 18, !
A X 3
2% (Xr4) #3 (a4+)= O
(X+4) (W) =0 FACTOR - Z2<ro

Xt+t4=0O 24+ =
X:-¢4 513:_? SolLVE&E

X -3
Q
2. 4x2=12x—9 QuAD : 2RO
-(Qx 49
/<36
Hy P =123+ G=(D 2x/8
L A_T i
7 ‘x4
Q A
Bl - 90 <
ax —3 .MP Sl'7n !

Qx (A3 -3 ( A-3): O
(-3 ( AX-N : o
Ax-3:0 3o
Qdd 3
3 3
= = 3
X > X _§
OR
1-‘(.3 * one -Qiua..\ o\“sw "
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Examples: Solve with the quadratic formula iexact answers).
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Examples: Solve with the quadratic formula (rounded answers to
hundredths).
1. 2x2+3x+1=0
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